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THINK ABOUT IT

Given the following equation, v = (x + 3)2+ 1, how could we go from that form foy = x2 + éx + 10%
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THINK ABOUT IT

What abouty =3[x+ 2)2+ 3 1oy = 3x2 +12x +15%
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STANDARD FORM

A determines how the graph opens

&
(0, C) is the y-infercepft.




- &, 9) FINDING THE VERTEX

Graphing in standard form is similar to graphing in vertex form, but the way we find our vertex is different. We
use a special formula to find the x-coordinate of our vertex, and substitute that value in our equation to
defermine the v - coordinate of our vertex.

The formulais: x = % , then subsfitute x info equation fory.
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PRACTICE WITH FINDING VERTEX

Find the vertex for each of the following quadrafics, deftermine whether the graph opens up or down, and find
the v intercept:
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The y-intercept is (0, 2]. The y-intercept is (0, 7}.
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FINDING THE VERTEX
a=1 b0 =9
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STEPS FOR GRAPHING IN
STANDARD

1)  Find the vertex. After using the formula x = ;—b to find our x- coordinate of our vertex, we substitute that x
a

back info our equation, and our solufion is the yv-coordinate of our verfex.

2)  Use your vertex as the center for your table and determine two x values to the left and right of yvour x-
coordinate and substitute those x values back into the equation to determine the v values.

3)  Plot your points and connect them from left to right!
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g=-1 b= b =71 EXAMPLE 4

Example 4: Graph: v =-x2+ 6x-9.
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